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CRITERIOS DE CORRECCIÓN Y CALIFICACIÓN 
ZUZENTZEKO ETA KALIFIKATZEKO IRIZPIDEAK 

 
OPTION A 

NOTE: THERE MAY BE DIFFERENT ALTERNATIVES TO THE GIVEN ANSWERS.  
 STUDENTS DON’T HAVE TO WRITE THE PARAGRAPHS/LINES WHERE THEY HAVE 

TAKEN THEIR ANSWERS FROM. 
 
 
I.- Answer questions 1-4 according to the information given in the text. WRITE 
COMPLETE SENTENCES USING YOUR OWN WORDS WHENEVER POSSIBLE. 
DO NOT COPY FROM THE TEXT. (4 marks) 
 

1. Why are ultra-processed foods so popular?  
Ultra-processed foods are very popular because they are cheap, attractive 
and they have a sweet or salty taste that makes us want to eat them 
frequently. (p.1) 
2. Why are ultra-processed foods not very healthy?  
Ultra-processed foods are not very healthy because they do not have enough 
vitamins, minerals and nutrients and at the same time they have too much fat 
and sugar. (p.3) 
3. What are the known effects of consuming ultra-processed foods frequently? 
Eating ultra-processed foods frequently is related to obesity, bad health and 
increases in some types of cancer. (or "obesity and bad health" or just 
"increases in some types of cancer"). (p. 3 & 4) 
4. What is the advice of nutrition experts? 
Nutrition experts say that we shouldn't eat these foods or at least not very 
frequently. (p.5) 
 

II.- Are these statements True or False? Justify your answers based on information 
from the text, rewriting the original sentences in your own words or quoting properly. 
(2 marks) 
 

1. Ultra-processed foods are quite similar to natural, home-cooked food.  
It is false. As the text says, ultra-processed foods "have little similarity to 
the fruit, vegetables, meat or fish used to cook fresh meals at home." (p.1) 

2. There are several countries in Europe that consume more ultra-processed foods 
than the UK.  
It is false. The text states that the proportion of ultra-processed food 
bought/consumed in the UK is the highest in Europe. (p.2) 

 
III.- Find the words or expressions in the text that mean. (1 mark) 
 

1. substituted, exchanged, supplanted   replaced (p.1, l.1) 
2. food eaten between regular meals   snacks (p.1, l.1) 
3. frequently, often, habitually  regularly (p.4, l.7) 
4. beneficial to one's physical or mental state  healthy (p.5, l.2) 
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OPTION B 

NOTE: THERE MAY BE DIFFERENT ALTERNATIVES TO THE GIVEN ANSWERS. 
STUDENTS DON’T HAVE TO WRITE THE PARAGRAPHS/LINES WHERE THEY HAVE 
TAKEN THEIR ANSWERS FROM. 

I.- Answer questions 1-4 according to the information given in the text. WRITE 
COMPLETE SENTENCES USING YOUR OWN WORDS WHENEVER POSSIBLE. 
DO NOT COPY FROM THE TEXT. (4 marks) 

1. How do Birmingham police catch drivers who put cyclists at risk?
Birmingham police send plain-clothes policemen on bicycles to see how
car drivers behave towards them. (p.1)

2. According to the police, what are the main effects of irresponsible cycling?
Irresponsible cycling mainly annoys and frightens pedestrians and may
also cause them small injuries. (p. 2)

3. Why does the text say that car drivers aren't more sensible than cyclists?
The text says that car drivers aren't more sensible than cyclists because
car drivers do irresponsible things when driving such as using their
phones or driving too fast. (p.3)

4. Why do the police say that cyclists don't cause them many problems?
The police say that cyclists don't cause them many problems because
cycling is not really a danger to the community whereas cars kill nearly
100 people a year in the Birmingham area. (p.4)

II.- Are these statements True or False? Justify your answers based on information 
from the text, rewriting the original sentences in your own words or quoting properly. 
(2 marks) 

1. Most accidents affecting cyclists are the cyclist's fault.
It is false. The text says that in 98% of the cases in which cyclists get
injured or killed, it is the car driver's fault and not the cyclist's [fault]. (p.1)

2. Police should ignore dangerous cycling.
It is false. The text states, "This is not to say that police should ignore
dangerous cycling." (p.5)

III.- Find the words or expressions in the text that mean. (1 mark) 

1. hurt, wounded, harmed, damaged injured (p.1, l.1) 
2. looking at something for a long time without moving your eyes staring (p.3, l.3)
3. at present, nowadays, at the moment currently (p.4, l.4) 
4. a person who is walking and not travelling in a vehicle pedestrian (p.5, l. 4) 
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